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��� ����� τk� ��� ����	� ��� 
� ���	� ��  	�	�!
�� �
	�����

"#�#$
∑
n�1

τk(n)

ns
= ζk(s)

�
 k ��� 
� ���
 ���	������� ���	�	� �� Re(s) > 1�

�� �����	�� �� �	
�� � ���	�� 
�������	�� �� �

�	�
�� �!���!�
�� � ��
��
��� �����	���� ���
��	�
�� �� �� ���	� ��  	�	�!
�� �� �� ������	����� ����

� �����

�	�� ��� �����	��� ��	�!���	�
�� %�&� %'&� %�&� %(&� %)& �� %#*&� ����	

�� ������	���� ��
�	��� �
+ �����
�� ����	���� 	
 � � 
�� ���	��� y,��	��
��� 
��
���	��� y,��	�
�� �� 
�� ���	��� �
	 �� ��������� ��� �� �����
�� ����	��� ����

� 	������

� ������

 ��� ��� ���	�
�� ��
� ��
�	��� ��	��	��
����� 
�� ���	��� �
 ���	�	��� ����
�� ��	���� ����
 �
+ �����	���� ��� ���	��� y,��	��
�� �� y,��	�
��� �� ����	� ��

� 
	������
�� ��
��	�� � 
� �!���	� ���
��	�
� ��� ������� ����	��� ���
��
�
�� �����
+ �
	 ���	���� 
�� ���	��� y,��	��
�� ������	������ �
+ ���	��� y,��	�
��
�� �
+ ���	��� ���� �����
�� ����	��� ���� 
� 	������

� ������ ����� ������
��� ���

���� �
� ��� ����	��� ����� �����	��� ��� 
�
�� ��� ��	���� �
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� ���
��
���� � ���	-�� ��� ���	�
�� .� �
��� ��-
���� ����������
 ��� 
�
�	
	���	��
��� ���	��� �	��� ���� �� ��+�� ���� 
� ����������	�� �
������	�� �� ���
��	�
�
�
 �!������ ��� ������� ����	��� �� 
�
� �/
� �� ������-���!	� %0& �� %*&�

��
� ���	
	��� 
� ������!���	�� �� �� ��+��� ��
� 
������ �
��	�	�� �� �

�	,
�
�� ����-���!��� 1�
� ����� �-�
����� ����	 
�� ��
���
+ �������� 
�	
��
��
� �� �����	
� ��
�� ����� �� ���
��� ����� ��
� ����� ��
�	� ���������� 
�
������� �� 
� �����	�� �� �	
�� �
� 
�� ���	��� y,��	�
�� �� ��
+ ���� ��	� 
������
�� ����� ��
��� �� ���

��� ��	��	��
 �� �� �����	
 ������ ��
�� �����	�� �
��
+ ���	��
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	 ���� ����	� 

���	�
������� 1�
� ����� ����
	 �
�
�
�� ���,
��	���� �� ����� �����	�� ����� �
��� ��

�� ��� ���	���� ����	�
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�� ��
��	��
�����	����

� �
� ���	�� ����� �����	��� ��	��� �� ���� �� ��� ���

���� ��� 
�
��������	�	�� ��
� ���	�� -����	�
� n � 1 ����� �
	� n = ab� ���� P (a) � z
�� P−(b) > y� �
 z �� y ���� ��
+ ���
� �
���	�
�� � ��
+ �� P (a) ���	-�� 
�
�

� -���� �����
� ����	�� �� 
����	�� a �
��� �
� P−(b) ��� 
� �

� ���	� �����
�
����	�� ��
� ���	�� -����	�
� b ���� 
� �������	�� P (1) = 1 �� P−(1) = +∞�
����� ��������	�	�� ������ �
�	������ 
� 
	�� ����� 
�� ���	��� ����	����� ����
�� �����	
 �� ��
+ ��� �
���� ���� 2���� ����� ��������	�	��� 
� -��� �
 �����	

��� �����	��� 
� ������� �� 
� �����	�� �� �	
�� �
� 
�� ���	��� y,��	��
�� �� ��
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�����	� ���	����	�
� ����	�� 
� �	����	 �����	 �� �� �	����
� ���	 
� ������ ���� ���� 
� ��	���
���� ��� �	���
�� ���	 ����
�	 
�� 	���
���� 	�
����� ��� �����	� y
�	��
��� ����
���
����� 
� ������� ������ ���� �� � ������� ���
���� ���	 ������	 
� ��������

Sω(x, y) =
∑

n�x,P−(n)>y

zω(n),

�� ω(n) ����!�� 
� ����	� �� �������	� �	����	� �� 
"�����	 ������� n� �"���
�

��	� 
� �������� ω(n) =

∑
P |n 1� �� 
��� ���	� 
� �������� �	�������� �� ��

� ��

�� �	����
 ��� 
"����� �� 
� ��������

S(x, y, k) =
∑

n�x,P−(n)>y

τk(n).

���	 �� ��� ��	���	!�	 ��� �	���
�� ���� ����� �	���	� ������	 
� #�������
S(x, y, k) ��� 
�� 	���
���� �� 
� �������� Sω(x, y)� $� 	�!�	���� �� �	�� 
�
������������� ����� ���� 
� ��	�!	���� �	�������� ���� ���������� #�� ����
����� ������ �� 
"���������� �� 
� ��������

%��&' Sk(x, y) =
∑

n�x, P (n)�y

τk(n).

(���� �������� ��� ����������� ������� ��	 �
�����	� ���	����	� �����
��	 �����
�� )	������� *���� �� *��! �+ � �, �� �- �

)��� 
� ��	�!	���� �������� ���� �	�������� 
�� 	���
���� ���
�� � �� �	����

�� ���� ������� #��
#��� ���������	�� ��	 
� �������� � ������	� *��� f ���
�������� �	�������#�� �� ���	 (x, y, z) ∈ ]0,+∞[ × [2,+∞[ × [2,+∞[� ����
������ ��	

%��.' Γf (x, y, z) =
∑

n�x, p|n, p/∈]z,y]
f(n)

*� f(n) = 1(n) := 1� 
� �������� Γf (x, y, z) ��	� ����� ��	 Γ(x, y, z)� (����
�������� � ��� ������� ��	 /��	��� 0���!�	���	 ���� ��+ �� 1�	�
� 2��������
���� �. � ���	 ��� �������� #��
���#�� f � �
 ��� 	�	� �� �	����	 ��� 	���
����
�����	���� 
� �������� Γf (x, y, z)� 3
 ��� ���� ����	�
 �"��	����	 
� 
����	���	�
�� � ���	�������� �"���	�� ���������� )��� ����� ����#��� ���� ����� ����� � 
�
�������� f(n) = τk(n)� ��	�#�� p ��� �� ����	� �	����	� ���� ����� τk(p) = k�

�"����� ��� �������� �� ��	������ ��������� ��
���
�������� ���
��� #��
#���
���� 
�� �	��	����� �� 
� ��	�� ζk(s), Re(s) > 1 �, � )��� ����� ������ *����
�"����	���� ��� ��������� ������� �"��	�	� τk ∗ h� �� h ��� ������ �� ��������
�� �����
����� �	�������� ����	� #�� 
� �
���	� ��� �������� ��� ���������
�	�������#��� ������ ����	��������� �� ��

� �� 
� �������� �� ��
�4�
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� 	� �� ��
����
 τk ��� ��� �
����� ��
� �������� 
���

����� 	�
� �
 �
�������� 	� ��
� ]z, y] �� z �� y ������
� 2 � z � y� �������

k = 2� �� ���� τ2(n) ���� 
��� 
�� τ(n) ��� 	����
� �� 
����� 	� 	�������� 	�
���
���� n�

���� ������� ����� ����

�� 
��� �����
� ���

��� � 	�!
	���� "��
�����


�� ��� ��� ��
	�� ��� ��� ���������
� 	�� ��
����
�#

φ(x, y) =
∑

n�x, P (n)�y

1; υ(x, y) =
∑

n�x, P−(n)>y

1.

��� ��
����
� 	�
�
	�
� 	�� ��
����
� ρ(u) �� η(u)� �� ��� 	��
����� ������
�

��� �������
� 	�$���
������� ��% 	�$���
��� ���	������

vρ
′
(v) + ρ(v − 1) = 0 (v > 1),

ρ(v) = 1 (0 � v � 1)

ρ(v) = 0 ������� v ��� 
������,

(uη(u))
′

= η(u− 1) (u > 2),

uη(u) = 1 (1 � u � 2),

η(u) = 0 (u < 1),

���� u = log x
log y �� v = log x

log z �

�� �������� ��� 
��� ��
�������
� ��� �� � ������ &�&� ������ 
�� !
	����

"��
����
���

�������� ���� ���� �����

(i) Γ(x, y, z) = xθ(u, v) +O

(
x

log y

)
(x � y � z � 3/2)

(ii) Γ(x, y, z) = xθ(u, v)

{
1 +O

(
1

log y

)}
(x � yz)

(iii) Γ(x, y, z) = xθ(u, v)

{
1 +O

(
1

ρ(v) log x+ log(xy )

)}
(x � yz)

��

θ(u, v) = ρ(v) +

u∫
0

ρ

(
tv

u

)
ω(u− t)dt (0 < u � v).
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 �
���� y��������



������� �� �� 	��
���� �� 
���� ��� ��� ������� ��

����� ����	
��
�� ��� ���
�
� 
��� 	������� �����
���
�� �� �� ���	�
��
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���� f ��� ��� ���	�
�� �

�����
��� ����
��
	��
�� ����	������
����� �
�	���� ��� ���� �� ��
�
�� �� ������ ��� 
�������� �� 
���
��	� ��
 ���
�������� �� �� ���	�
�� f ��
 ��� ���
�
� 	

����� ��� �������� ��� ���	�
���
��
 ��� ���
�
� ����� ��� ��	���
� �
��
�
� ����
� � 	�
��
��� 	���
�
���� � !
���� ��
�
���� ��� ��������� �� ����

� ������
��� �� �
����
�
��� ��� ����
��
��
� ����
 �� 	
����"
���
��

�� �
����
���	� �� �� ���	�
�� τk ���� �����
���
�� �� 	�� �������� �
	���

��� � �� �

�� �� ��	
�
�� ��
 ������� �� 	����
������ �� �� ���	�
��
Γτk(x, y, z)� ����� ���� �� ��
�� �� 	� �
���
� ��
 Γk(x, y, z)�

#����� ��
 �
����
� ��� �� ������� �� �� ���	�
�� �� $
��% ��
 ��� ���
�
�
y− �

����� ��� �
�� � ����������� �� &
����� ����� ��
�� �� �����
� ��
�� 	�
'
��
��� ��

�� �� (
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"� ���
	���
 Re(s) > 1�

#��� 
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���
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������� �����
�� �����
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���'
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�� �� $
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� �� 	��
�
����� ����) *�
��� +��������� ,���" -
� *��"� *�
� (
������� ��
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�
���� �����
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�� Sk(x, y)� (
������ �1! � ����
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�� �� �� ��

� �� (


	���� ����� ���� �� ���
'���� Re(s) > 3
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��% �� ��� �
��

���� ������
����
�� �� ��

� �� (


	���� ����� ���� ��� ����� � ���
��
 �� ���	�
��

3/�14 Γk(x, y, z) =
∑

n�x,p|n,p/∈]z,y]
τk(n)

$�
���� �����
���
�� �� �� ���	�
�� Sk(x, y) 
�5���	� 	���� �� �� ���	�
��
�
�	������� ���� �
�������� 	���� ���
��
���
�� �
� �� ����
��� ����

$����� �����
�

Hε =
{
(x, y) : x � 2, 1 � u � exp(log y)

3
5−ε

}
6��	 	���� �����
��� ���� ����� �� ����
��� 1.2�

���	
��� ���� ���� ����� ���	�
���
�� ���
 (x, y) ∈ Hε�

3/�74 Sk(x, y) = x(log y)k−1ρk(u)

{
1 +O

(
ξ(u)

(log y)
3
5−ε

+
1

(log y)k

)}
.

�
�	���
���	�� ����� �� ����
��� ������
� ��
 *�
�� ���� �.!� �
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�	�����	
 1 
� �
 ����	
�
 1.3�

���������� �	 ���� ��� ����� ��	
����	� 
� �
������ 1.2� 	��� ���	�

Sk(x, y)� x(log y)k−1ρk(u).

�� ������ �	� ��	���	�� c = c(k) ����� ��� ���	 ��� �	��������	�� ���� x�

Sk(x, y)� x(log x)k−1e−cu

lim
y→+∞

∑
n>Y,P (n)�y

τk(n)

n
= 0 �� Y = yc log2 y.
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�� �
 ����	
�
 ������	� ��	 ��	��� ���� ���� �

�
� �	��	����� �
 �� ���
���� ρk ��� ����	��� ���� �
 ����	
�
 1.2 ��� ���
������
� 
� ������ ���� ��� ����  � ��� ����	���

 ���� ���	
 ����
� ����
	���
���� �� ��!�������

ρ
′
k(u) = (k − 1)ρk(u)− kρk(u− 1) (u > 1)

ρk(u) =
uk−1

Γ(k)
(0 < u � 1)

"#��$ ρk(u) = 0 (u � 0)

�
��
 ���
���� ���
	 �
�� ���� �
� 
���������� �
� ��%
��
� �
� ���
�����
��	 �
� 
���
	� �	��&�
� 
� ���� �
� ��	�
� �
 ��	�
��
� �
 
����	�
�� ����%����
'
�
��� ��  ������(
 �
 Re(s) = 1� 
���
 �� ���
���� )
�� �
 *�
����� +��	

����
	 �� ���
���� Γk(x, y, z)� ���� ��������� �(��
�
�� �
 ����	
�
 1.3 ���&��
��	 ,
�
�&��� ���� �#-��

�������� �	�	 ���� ��� ��	
����	� x � y � 2� 	��� ���	�∑
n�x,P (n)�y

τk(n)

n
= (log y)kjk(u)

{
1 +O

(
log3(8y)

log y
+

1

Lε(y)

)}

��

jk(u) =

u∫
0

ρk(t)dt

��

Lε(y) = exp(log y)
3
5−ε. log2(x) = log log(x).
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� �	�
�����

����� �	
����
� �
 ��
��
�
� ���� ������������ �	����� �	����
� ���������

� �
� �
�������� �
 �
������ ����
��� ����
� ���� �� ����
� �	����
 �������� �
����
��
 ���� ������ ����
 ���
� 
�� mk� �������� ������

 ��� ������ ��� 
� �
���

��� ⎧⎪⎪⎪⎪⎪⎪⎨

⎪⎪⎪⎪⎪⎪⎩

mk(u) = 0, u � 1

mk(u) =
k

u
, 1 < u � 2

mk(u) =
k

u
+

k

u

u∫
2

mk(t− 1)dt, u > 2

 
��
 �
���
�
 �������� ���
���
�� ���� �	
��������� �
 �� �������� Sω(x, y)�
������ ���� !�����
 �� �
����
 ������

 ���� �
 ������� 
�� ����

 
� �����

��� �
� 
���
�� �����
�� ���� �
���� ���
� 
"��
�
�� � �	
��������� �
 �� ����#

���� S(x, y, k) =
∑

n�x,P−(n)>y

τk(n)�  
��
 
��������� �
����
�� �
 �
��
 �
 ��

�������� Sω(x, y)�

����� �	
����
� ��
 �
��
 
���������� ���� �
�������� �� �������� ��� ���#
���
���
 �
 ��
��
�
 ���������� $��� �� ������ ��� βk(u, v) 
� 
��
 
�� �
���

����
 ����

βk(u, v) = ρk(v) +

u∫
0

ρk

(
tv

u

)
mk(u− t)dt (0 < u � v)

βk(u, v) = ρk(v) (0 � u � 1)

%&��' βk(u, v) = 0 (u < 0 �� v < 0)

βk(u, v) =
1

Γ(k)
(0 < v < u)

$��� 
���(��� �����
���� �
 ��
��
�
 ����������

����	�
� ���� ������ ζk(x, y, z) =
∏

z<p�y

(
1− 1

p

)k

��

P1(x, y, z) =
1

(log x)δ1
+

log2(2z)

log z
+

1

Lε(z)
, 0 < δ1 < 1.

���	 
�� ���������
 ���� �����



�� �� ������	 	�
 �� �
	�
��

��� Γk(x, y, z) =
x

Γ(k) (log x)
k−1

ζk(x, y, z)
{
1 +O

(
1

(log x)ε

)}
(y − z � (log x)1−ε),

���� Γk(x, y, z) = (log z)
k−1

x
{
βk(u, v) +O

(
1

log y + ρk(v)
(
log v
log z + 1

(log z)k

))}
(x � yz),

����� Γk(x, y, z) = xβk(u, v)(log z)
k−1 {1 +O (P1(x, y, z))} , (x > yz)

���������� �	 �� �������� βk(u, v) 	
���


βk(u, u) =
uk−1

Γ(k)
, (u > 0).

�� �	
��
�
 2.1� ���� �
������� ��
��������� �
� ���
��
� �
 �� ��������
�����
�� ��� �
� 
���
�� ����� �� ���� �
�� ����
��� ��
��
�� ���� �����
�����
]
x1/3, x1/2

]
�

���� ��
���
�
��� �� ���� x � 1� ���� ������

hx(n) =
∑

p,p|n,p∈]x1/3,x1/2]

1

c0 =
2

3

(
2− 4 log(3/2) + 3(log(3/2))2

)
c1 =

10

3
log(3/2)− 4 (log(3/2))

2 − 1

3

�

c2 = 2 log(3/2)

(
log(3/2)− 1

3

)
,

���� ����� ����� �
 �	
��
�
 ��������


�����
� �	�	 ���� ���� i ∈ {0, 1, 2}� ���� �	���

∑
n�x

hx(n)=i

τ(n) = cix log x

{
1 +O

(
1

log x

)}
.

��
�����	 �
� ��������� ρk 
� mk� ���� ������� �
����
 �� ������
 ������
������
 �
 �� �������� βk(u, v)� ���� �
 ���� ���	
 ��
�
�
��� ���� ����� ����

�
 �� ������!����� �
 �� �������� S(x, y, k) ���� ��
���
 �
 Γk� ���� 
�������
���� �
��
 ��
��
�
 �������� ����� �� �������
 Γk(x, y, z)� "
�� 
�� ���!#
� ��
���� ���	
 ��������

�	�	 ����
����� �� �� �������� S(x, y, k)

���� �
��
 �����
� ���� 
��������� �
 ������� ��$����� %&' ���� 
����
� ��
���
�� ���
��
 �
 �� �������� �
 ����( ��� �
� 
���
�� ���!�
�� "���
 ���� �




������� �� �� 	��
���� �� 
���� ��� ��� ������� ��

������� 	
�� �
 ��
��� ����� ���	� 	����	 	� �
 �����
�� �
�
�����

Ak(x, y) =
x

log y

+∞∫
1

mk(u− ut)t
−2dt, �� ut =

log t

log y

��
��� F := {n ∈ N : n �
�� �
����� �
��� } ��

S∗(x, y, k) =
∑

n�x,P−(n)>y,n∈F
τk(n).

���� 
���� S∗(x, y, k) =
∑

n�x,P−(n)>y

kω(n)� ����� �����
�� ���� �� ���� �
�
�
�

	
�� �����
�
�
�� 	� S(x, y, k)� ���� ��
���� �� �

��������� 	����
	
 ��
�
��
���� ���
��� �
 �����
�� Sω(x, y) =

∑
n�x

P−(n)>y

zω(n)� ���
	
 ����
	��� 	��� �
��

�
� �� y ���  ���
� !"��#�	� 	� ���$��%& ��  %�
�	 � !"��#�	� 	� ���'�
�
��
�����
�������&� (�� ������
�� 
��'���� ���� 
����� �

�� 
���� ���� ������� 	
��
�� ����� 2.1�

����� ���� ���� ����� �	� 	�
���
���� ������
	�

�& Sw(x, y) = Ak(x, y) +O
(
xu2k+1 exp

{
−(log y) 3

5−ε
})

(2 � y � x)

)& Sw(x, y) =
x

log ymk(u) +O
(
x uk−2

(log y)2

) (
exp(log2 x)

3 � y � √x
)

*& Sw(x, y) = k.g(k, y) x
log xu

k +O
(
xuk−1

log x

) (
3
2 � y < exp(log x)

2
5

)
��

g(k, y) =
1

Γ(k)

{
(log y)

k
} ∏

p>y

(
1− 1

p

)k (
1 +

z

p− 1

)
.

���	
��
���	
� �� ���� ��� �#������� �� ) �� * 	� +�,� ��������� 
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��
���� ��� �� ���� 	� �
 �
�

$�� u� �

.�
�
�
�� ��� ���
�
�
��� 	� ����� 2.1 �� 	� ���%
�
��∑
n�x,P−(n)>y,n∈F

τk(n) =
∑

n�x,P−(n)>y

kω(n)



��
 '�� �� �#������ 	� /����� +�*,� ���� ��
$�
����� �� ����� 2.2�

����� ����

!
& 
��� 
��
 x � y � 2� ���� �����

S(x, y, k) = Ak(x, y) +O
(
xu2k+1 exp

{
−(log y) 3

5−ε
})

.



�� �� ������	 	�
 �� �
	�
��

���� ���� �� ���	
�
�� 2 � y � exp(log x)1−ε, 0 < ε < 1� ���� �
��� ���������

S(x, y, k) =

(
ζ(1, y)−1 log y

)k
Γ(k)

uk

log x
x

{
1 +O

(
1

u

)}
.

����� ���� ��� ���	
�
��� x � 3, exp(log2 x)
3 � y � √

x� �� �����
�� S(x, y, k)

��
�� �� �����
��

S(x, y, k) =
x

log y
mk(u) +O

(
xuk−2

(log y)2

)
.

���������� ������ 
�������
�� ��� ����
�� 	��� ��
�������� 	���
����� Ak(x, y)

���
���

����� (log y)Ak(x, y) = xmk(u)− ky + x

u−1∫
0

m
′
k(u− w)y−wdw

�� ��� �� ������� 	� ������� ����� ���� 	�	�
���� �� �����
��

�����
(
ζ(1, y)−1 log y

)k
= e−kγ

{
1 +O

(
1

Lε(y)

)}
.

��������	�
��� �	 
��
�
���
∑

n�x,P−(n)>y,n∈F
τk(n) =

∑
n�x,P−(n)>y

kω(n) 	� ��

�����	�	 � �	 ���� ���� ��������� 
� �	
�����

����� S∗(x, y, k) = Ak(x, y) +O
(
xu2k+1 (Lε(y))

−1
)

��� ���� ������� � ���	

S(x, y, k)−Ak(x, y) = S(x, y, k)− S∗(x, y, k) + S∗(x, y, k)−Ak(x, y)

!����
�
��� �����
�
���	 	� 
�	��������� (��
) ���
�"�	��

S(x, y, k)−Ak(x, y) = S(x, y, k)− S∗(x, y, k) +O
(
xu2k+1 (Lε(y))

−1
)
.

�� 
	��	 2.1 	� �	� ���������� �	 
� #�� ���� �	 $�
�%� ���� ��������� "�	

|S(x, y, k)− S∗(x, y, k)| �
∑

n�x,P−(n)>y,p|n,p2|n
τk(n)�

�
∑

y<p�x,2�r� log x
log p

τk(p
r)S

(
x

p
, p, k

)
�

� x
{
(log x)k−1 + 1

} ∑
y<p�x,2�r� log x

log p

1 + kr

pr
.



������� �� �� 	��
���� �� 
���� ��� ��� ������� ��

����� ����	 r � 2
 �� � 1
pr � 1

p2 � �
���
� p � y
 �� � 1
p2 � 1

y2 � �����
 �� �

����� |S(x, y, k)− S∗(x, y, k)| � x

y2
{
(log x)k−1 + 1

}
�
 ��
� ����� 
�����	 ����	�����	 τk(p

r) � max(1, kr)�

�� �����
���� �� �� �	����������� �
 ������� ����� �	��
�� ��� �����������
��	�	�������

�� �	����������� �
 ������ ����� ��� 
�� ����	�
���� �
 � 	����� ��
������ !"�# �� ������ !"# ��� �� �	��� �� $���� ���

∑
n�1,P−(n)>y

τk(n)n
−s =

ζk(s)

ζk(s, y)
, ����%�� ��
� Re(s) > 1.

��
� 	��%��� �� ��������� �����
 ��
� 
�������� ����	�����	∣∣∣S∗(x, y, k)− x

log y
mk(u)

∣∣∣ � ∣∣∣S∗(x, y, k)−Ak(x, y)
∣∣∣+ r1

�
 r1 =
∣∣∣Ak(x, y)− x

log ymk(u)
∣∣∣�

$� �� �������� (���) �� �� ������������ m
′
k(u)� uk−2
 ���� ����� " �� !"#


��
� �����
��� �
�

���&� r1 � x

(log y)2
uk−2

$�� ��������� (���− ���)
 ��
� �	�
����� �� �������� ���������� �
 ����� 2.2�
�� �������� � �
����� ��� �	����	 � �� �	����������� �
 � 	����� ����������

���� ����	
���� 
� �
 �������� Γk(x, y, z)

�
 ������ 
� ������	� ���� '�
� �������
��� ����� ��� � ������(

�
� �� y − z � (log x)1+ε� )��� �� *������� bk �	+��� ��� �� �	��� �� $���� ���

∑
n�1

bk(n)

ns
=

1

ζk(s)
(Re(s) > 1).

������ Pz,y =
∏

z<p<y

p� ���� ��� ���������
 ��
� �����

Γk(x, y, z) =
∑

n�x,d|Pz,y,d|n
bk(d)τk(n/d).



�� �� ������	 	�
 �� �
	�
��

���� �����	� 
��
��

Γk(x, y, z) =
∑

n�x,d|Pz,y

bk(d)
∑

l�x/d

τk(l).

�� �
 y − z � (log x)
1+ε

� 	��� ���	� d|Pz,y �� d � x/2� �� ������� �� �������
���� ��		�

∑
l�x/d

τk(l) =
x

dΓ(k)
(log x)

k−1

(
1− log d

log x

)k−1 {
1 +O

(
1

log(x/d)

)}
.

�� �
 d|Pz,y� 	��� ���	�
(
1− log d

log x

)k−1

= 1 +O
(

1
(log x)ε

)
�

��� ��	�
 ��	�� �!���
���
�	 �� �� ��	��
�	 Γk(x, y, z) ���
�	�

Γk(x, y, z) =
x(log x)k−1

Γ(k)

{
1 +O

(
1

(log x)ε

)} ∑
d|Pz,y

bk(d) + r2

��

r2 � x(log x)k−1
∣∣∣ ∑
d|Pz,y

bk(d)

d log(x/d)

∣∣∣.
���� ���	� 
������	�

r2 � x(log x)k−2
∏

z<p�y

(
1 +

1

p

)k

.

"� �����
�	
∏

z<p�y

(
1 +

1

p

)k

=
∏

z<p�y

(
1− 1

p

)k (
1− 1

p

)−2k (
1− 1

p2

)k

�� ��

������� �� #����	� ���� 
���
 ��	�

r2 � x(log x)k−2

(
log y

log z

)2k ∏
z<p�y

(
1− 1

p

)k

�� �	����

r2 � x(log x)k−1 1

(log x)ε

∏
z<p�y

(
1− 1

p

)k

.

"� ��	����
�	 �� ��
	� $
% �� �&
����� ��
	�
��� �
����� �� �!���
���
�	 ��
�
'
��	�� �� �� �� �����
�	 ∑

d|Pz,y

bk(d) = ζk(x, y, z).



������� �� �� 	��
���� �� 
���� ��� ��� ������� ��

������	
�� �	� �
 �
	� �������
�� ���� �� �

�� �
� �� �
���

� mk(u) ��� �
�
�������

�� �� ���	���� ���
���

Γk(x, y, z) = ekγmk(u)(log y)
k−1ζk(x, y, z)

{
1 +O

(
1

(log x)ε
+

1

u

)}
.

�� �	
�� �� �� ���
������

� �	 ���
���� ��
��
��� ���
	�� ��� ������ 2.2 ��
2.3� �� �� �����

� (���) �� �	 ���
���� 1.3�

����� ���� ���� x � y � z > 1� ���� �	��� 
� ��
��
�� ��
	����

����� Γk(x, y, z) = Sk(x, z)− Sk

(
x

y
, z

)
+

∑
n�x/y,P (n)�z

τk(n)S
(x
n
, y, k

)
.

	
���
�������� �
	� ���
�� n � 1  !	���� ���� Γk(x, y, z) �� ����
�
��
�
��� �	
�" n = ab� ���� P (a) � z �� P−(b) > y�

#
	� ���
�
�� ��
��

Γk(x, y, z) =
∑

ab�x,P (a)�z,P−(b)>y

τk(ab) =

=
∑

a�x,P (a)�z

τk(a) +
∑

a�x,P (a)�z,y<b� x
a ,P−(b)>y

τk(ab) =

= Sk(x, z) +
∑

a�x,P (a)�z,b� x
a ,P−(b)>y

τk(ab)− Sk(x, y).

$�� �
���	��� �
 x
y < a � x, b = 1� �
	� ��
��

���%� Γk(x, y, z) = Sk(x, z)− Sk(x/y, z) +
∑

n�x/y,P (n)�z

τk(n)S
(x
n
, y, k

)
.

#
	� ���&�
��
�� �� ��	�
��� �

�� �	 ���
���� ��
��
���� #
	� �
��
���
��
��
�� �� �
��
�� x � yz� #
	� ������	
�� �	� 1 � u � 2 �� �
 y � x � 2y� ��
�
���

� � ���
��� �'��� �	��� �	�

Γk(x, y, z) = Sk(x, z) + S(x, y, k)− 1.

��
 �� #
	� ���&�
��
�� �� ���
���� ���� �� �
��
�� 2y � x � yz�
(
 �
	� �
�
�� r3 = x

nLε(y)
(log y)k−1 �� un = log n

log y � �� ����
��� ����
� �	 �����

2.2 �� �� �����

� (����) 
���
�	���

���)�

S
(x
n
, y, k

)
=

x

n log y
mk(u− un)− k

y

log y
+

+
x

n log y

u−un−1∫
0

m
′
k(u− un − t)y−tdt +O(r3).



�� �� ������	 	�
 �� �
	�
��

���� �����	� 
���� 
�����

������
∑

n�x/y,P (n)�z

τk(n)S
(x
n
, y, k

)
= S1−S2+S3+O

(
x(log z)k−1 (log y)

k

Lε(y)

)


���

S1 =
x

log y

∑
n�x/y

τk(n)

n
mk(u− un),

S2 =
ky

log y

∑
n�x/y

τk(n) ��

S3 =
x

log y

∑
n�x/y

τk(n)

n

∫ u−un−1

0

m
′
k(u− un − t)y−tdt

�
� �� x � zy� �
 ��	�����	 P (n) � z ��� �
���
��
��
���	� ��
���� S3� �� ����� ��
���� 
����

S3 =
1

log y

∑
n�x/y

τk(n)

u−un∫
1

m
′
(t)ytdt � 1

(log y)

∑
n�x/y

τk(n)

u∫
1

ytdt�

� 1

(log y)2

∑
n�x/y

τk(n).

��� �	
 
���
� ��	� ��� ��	�
!��	��� ��� ���
���	� 1 � u � 2 �� m
′
k(t)� tk−2�

"� �#
����� �� $����� %�&'� 	��� �
�����	� !��

S3 � x

y(log y)2
(log z)k−1 � x

log y
(log z)k−1.

(� ���� �
���		���	� ������
 ���� ������� S3 ��	��� !��

S2 � x

log y
(log z)k−1.

)
�	��	
	�� 	��� ������	� S1� ���� 
����!��	� �� ����� ��*��� %�&'� ����
����	��

S1 =
x

log y

x/y∫
1

mk(u− ut)d

⎛
⎝∑

n�t

τk(n)

n

⎞
⎠ .



������� �� �� 	��
���� �� 
���� ��� ��� ������� ��

������ ��	 S1 = S11 − S12 + S13, 
�	�

S11 =
x

log y
mk(u);

S12 =
kx

Γ(k + 1) log y

x/y∫
1

mk(u− ut)(log t)
k−1

t
dt 	


S13 =
kx

Γ(k + 1) log y

x/y∫
1

mk(u− ut)d
(
O(log t)k−1

)
.

���� �	�
������ ��	

S12 =
x

log y
(log z)k−1

x/y∫
1

mk(u− ut)

t
ρk

(
log t

log z

)
dt.

������ ω = log t
log y �

�	�
 �	��	�
 
 log ydω = dt
t 	
 ����
���
�	 �	��	�


S12 = x(log z)k−1

u−1∫
0

mk(u− w)ρk

(u
v
w
)
dw.

���� �	 
	��	 S13 ���� ��������

S13 � x

log y

x/y∫
1

m
′
k(u− ut)

t log y
(log t)k−1dt.

��	�
��

��� m
′
k(u− ut)� 1

(u−ut)2
� 1� �������	 S13 � x

log y (log z)
k−1�

�	� 	�
��

���� ������	�
	�� ���� ��������� ��	

∑
n�x/y,P (n)�z

τk(n)S
(x
n
, y, k

)
= x(log z)k−1

u−1∫
0

mk(u− ω)ρk

(u
v
w
)
dω+

+O

(
x

log y
(log z)k−1

)
.

������	 Sk(x/y, z)� x
y (log z)

k−1e−u 	
 ����	

Sk(x, z) = xρk(v)(log z)
k−1

{
1 +O

(
log(v)

log z
+

1

(log z)k

)}
,



�� �� ������	 	�
 �� �
	�
��

���� ���	���� 
� �	
��
�� �� ��
�� �

� �
� 
	� 	��
���
��� ������	��	� 	� 
�
�	
��
�� (���)�

���� �������� ��
��	���� 
	 ���
�
	�	 ��
�� �� �����	�	 2.1� ���� �����


����� ������� 
	 
	��	 ��
�����

����� ���� ��
�

P1(x, y, z) =
1

(log x)δ1
+

log2(2z)

log z
+

1

Lε(z)
.

���� 
	� ����
�
��� x � yz 	� v � y−z
log z � �� �

∑
n� x

y ,P (n)�z

τk(n)S
(x
n
, y, k

)
= x(log z)k−1

u−1∫
0

ρk(
v

u
w)mk(u− w)dw×

×{1 +O (P1(x, y, z))} .
���� �
��
������ �	�� ���

�	
 � 	�� ��
� y �	
 ��	 2 � y � exp(log x)2/5�  ����� r4 =
x log y

n
(u− un)

k−2�

!� 
	��	 2.2� ���� ����
���� ��	

�"�##�

∑
n�x/y,P (n)�z

τk(n)S
(x
n
, y, k

)
=

=
∑

n�x/y,P (n)�z

τk(n)

{
x(log y)k

Γ(k)ζ(1, y)k
(u− un)

k

n log(x/n)
+O(r4)

}

������ ��� S
′
1 
	 �	��	 ��
��
��
 �	 
� �	
��
�� (��
�)� ���� ����� �
���

�"�#"� S
′
1 =

x(log y)k

Γ(k)ζ(1, y)k

∑
n�x/y,P (n)�z

τk(n)

n
(u− un)

k−1.

 �� 
	 
	��	 ��
�������
�� ��� ����
	��

S
′
1 =

x(log y)k

Γ(k)ζ(1, y)k
S
′′
1 ,

�� ���� ����� ����

�"�#$�

S
′′
1 =

x/y∫
1

(u− ut)
k−1d

⎛
⎝ ∑

n�t,P (n)�z

τk(n)

n

⎞
⎠ =

=

x/y∫
1

(u− ut)
k−1

(
(log z)kjk

(
log t

log z

))′
dt + r5



������� �� �� 	��
���� �� 
���� ��� ��� ������� ��

����

r5 �
{
log2(2z)

log z
+

1

Lε(z)

} x/y∫
1

(u− ut)
k−1

(
(log z)kjk

(
log t

log z

))′
dt.

��� 	�
� 	��
����� �������
� 	���
��
� 	
 �������� ��� ���� �����������
 	� ��

��
����

∑

n�t,P (n)�z

τk(n)

n
� �
 ���
����
� 	� ��������� w = log t

log y �� �� 	��
����


	� �� ��
����
 jk(u)� ���� �� ! ��"��#
�
�

x/y∫
1

(u− ut)
k−1

(
(log z)kjk

(
log t

log z

))′
dt =

= log y(log z)k−1

u−1∫
0

(u− w)k−1ρk

(u
v
w
)
dw.

�� ���� �����

���
� ��
��� #
�
$%��&'

r5 �
{
log2(2z)

log z
+

1

Lε(z)

}
log y(log z)k−1

∫ u−1

0

(u− w)k−1ρk

(u
v
w
)
dw.

(�
� ��
���
� 	� ���� #
�
$%��)' ∑

n�x/y,P (n)�z

τk(n)r4 � x
(log y)2

u
(log z)k−1

∫ u−1

0

(u− w)k−1ρk

(u
v
w
)
dw.

*�� ���������
� (���� − ����)� 
�
� 	�	
���
� #
�∑
n�x/y,P (n)�z

τk(n)S
(x
n
, y, k

)
=

=
x(log y)k

Γ(k)ζ(1, y)k
(log z)k−1

∫ u−1

0

(u− w)k−1ρk

(u
v
w
)
dw + r6,

�


r6 �
{
(log y)2

u
+

(log(2z))

log z
+

1

Lε(z)

}
x
(log y)2

u
(log z)k−1×

×
∫ u−1

0

(u− w)k−1ρk

(u
v
w
)
dw.

+� �� 2 � y � exp(log x)δ, (0 < δ < 1/3)� 
�
� ���
�

(log y)2

u
=

(log y)3

log x
� (log y)3δ

log x
=

1

(log x)1−3δ
� 1

(log x)δ1
, �� 0 < δ1 < 1.



�� �� ������	 	�
 �� �
	�
��

��� �� �����	
� ����� �� ��� ���	
��	
�� ������������ �
�� �
��
�� ��
�� ���	��

������

∑
n�x/y,P (n)�z

τk(n)S
(x
n
, y, k

)
=

=
x

Γ(k)
e−kγ(log z)k−1

∫ u−1

0

(u− w)k−1ρk

(u
v
w
)
dw + r7


� r7 � x

Lε(y)
(log z)k−1

∫ u−1

0

(u− w)k−1ρk

(u
v
w
)
dw�

��� �	������� �� ��

� 2.1 �������	 	
��	���

e−kγ

Γ(k)
(u− w)k−1 = mk(u− w) +O(u− w)k−2.

�	��	� �
�� ��
��∑
n�x/y,P (n)�z

τk(n)S
(x
n
, y, k

)
= x(log z)k−1P (x, y, z)×

×
u−1∫
0

ρk

(u
v
w
)
mk(u− w)dw

(
1 +O

(
1

u

))


�

P (x, y, z) =

{(
1 +O

(
1

Lε(y)

))(
1 +O

(
1

(log x)δ1
+

log2(2z)

log z
+

1

Lε(z)

))}
.

�� ��
������� ���

P (x, y, z) = 1 +O

(
1

(log x)δ1
+

log2(2z)

log z
+

1

Lε(z)

)
,

�� ��� 1
u � (log y)2

u � 1
(log x)δ1

�
�� 
����
�� ��
��

P (x, y, z)

(
1 +O

(
1

u

))
= 1 +O

(
1

(log x)δ1
+

log2(2z)

log z
+

1

Lε(z)

)
.

��� �
��������� �
�� 
����
��∑
n�x/y,P (n)�z

τk(n)S
(x
n
, y, k

)
= x(log z)k−1×

×
u−1∫
0

ρk

(u
v
w
)
mk(u− w)dw (1 +O (P1(x, y, z))) .

 ���� �� ������ �� ��

� 2.4 ���� �� ��� 
� 2 � y � exp(log x)2/5�



������� �� �� 	��
���� �� 
���� ��� ��� ������� ��

��� � ��� ���� ����	
����� 
� ��� �� x � 3, exp(log2 x)
3 � y � √x� ����

��� ���
	�	���� ���� ��	
	���� 
� ��	�� �			� 
� 
���� 2.2 �� ���� ��������

∑
n�x/y,P (n)�z

τk(n)S
(x
n
, y, k

)
=

x

log y

∑
n�x,P (n)�z

τk(n)

n
mk(u− un) + r8

����

r8 � x

(log y)2

∑
n�x,P (n)�z

τk(n)

n
(u− un)

k−2.

�� ��	���� 
� ���� ��	��������� 
� ��� �� ���� ��������

∑
n�x/y,P (n)�z

τk(n)S
(x
n
, y, k

)
= x(log z)k−1×

×
u−1∫
0

ρk

(u
v
w
)
mk(u− w)dw

(
1 +O

(
1

log x

))

∑
n�x/y,P (n)�z

τk(n)S
(x
n
, y, k

)
= x(log z)k−1

u−1∫
0

ρk

(u
v
w
)
mk(u− w)dw + r9

����

r9 � x

log x
(log z)k−1

∫ u−1

0

ρk

(u
v
w
)
mk(u− w)dw.

����� 1
log x � 1

(log)δ1
� ���� ����� �
��� ����
	 ��� ���� x � yz�

∑
n�x/y,P (n)�z

τk(n)S
(x
n
, y, k

)
= x(log z)k−1×

×
u−1∫
0

ρk

(u
v
ω
)
mk(u− ω)dω (1 +O (P1(x, y, z))) .

���� ����
���� 
� ������ 
� �������� ��	��	��
� ���� ���������� 
�� ����
����

� 
���� 2.4 �� ��� 
� �������� 1.2� �

�	
��
 
� ��	�����	
 �� �

� �!���	��� �� ����
�"��� 
��� 
� �������� 2.1 
��


	#������� � �����	��� 
�
∑

n�x/y,P (n)�z

τk(n)S
(x
n
, y, k

)
�� ���� $�	���� ���
��

y ���� 
!	�%�	�
���� �������� 
��� 
�� ����������� ��	����� 
� �������� 2.2� �� ������ ���
��� ����������� 
� �������� 2.1 �� 
�� 
����� ��	������



�� �� ������	 	�
 �� �
	�
��

����� ���� �� u ∈ ]2, 3]� ���� �	���

m2(u) =
2

u
(1 + 2 log(u− 1)) .

���	
��
���	
� ���� ���	
�� ��� ���
��	�� �
��
����

m2(u) =

{
2
u , �� (1 < u � 2)
2
u + 2

u

∫ u

2
m2(t− 1)dt, �� (u > 2)

����� ���� 
� ����
��� ρ2 	�����

ρ2(v) = 3v − 2v log v − 2, �� 1 < v � 2,

ρ2(v) = v
(
7− 2 log v − 4 log(v − 1) + 4

v∫
2

log(t− 1)

t
dt

)
+ 4 log(v − 1)− 10,

�� (2 < v � 3)�

���	
��
���	
� �
 ���
�� �� �� ����� ��� �������
�� ���� ��� �
��� ���

������������� �
� ����

��	� �	����	������ �
� ������ ρ2 �� �� �
��
� ��������
��

�	
� �������	�� ��
������ ��� �
��
�� ����������� �	
� �
����	�� �
�

ρ2(v) = v

⎧⎨
⎩ρ2(a)

a
− 2

v∫
a

ρ2(t− 1)

t2
dt

⎫⎬
⎭ , v > 0 a > 0.

�
� �	����
��� �� 1 < v � 2 �	
� 
�	��

ρ2(v) = v

⎧⎨
⎩1− 2

v∫
1

t− 1

t2
dt

⎫⎬
⎭ .

���!������	� ���������� �	
���� �
 �������� ���
��	� �� ρ2(v)�

"� 2 < v � 3 �	
� 
�	��

ρ2(v) = v

⎧⎨
⎩ρ2(2)

2
− 2

v∫
2

ρ2(t− 1)

t2
dt

⎫⎬
⎭ .

"� �	
� �����
#	�� ���!������	� �� ρ2(t − 1) �
 ����� 2.6 �
�� ��������
��

���������� �	
� 	����	��

ρ2(v) = v

⎛
⎝2− 2 log 2− 2

v∫
2

3(t− 1)− 2(t− 1) log(t− 1)− 2

t2
dt

⎞
⎠ .



������� �� �� 	��
���� �� 
���� ��� ��� ������� ��

�� ��������	��
 ��	
��	����� � ��
���	�� ���� ��
	����

ρ2(v) = v

⎛
⎝−6 log v + 4 log 2− 10

v
+ 7 + 4

v∫
2

(t− 1) log(t− 1)

t2
dt

⎞
⎠ .

��

v∫
2

(t− 1) log(t− 1)

t2
dt = intv2

log(t− 1)

t
(1− 1/t)dt = A−B, ��	�

A =

v∫
2

log(t− 1)

t
dt 	


B =

v∫
2

log(t− 1)

t2
dt

��	 ��
����
��� ��� ���
�	� ����	

B = log(v − 1)− log v − log(v − 1)

v
+ log 2.

��	
��	����� �	 ρ2(v) �	��	�


ρ2(v) = v

⎛
⎝7− 2 log v − 4 log(v − 1) + 4

v∫
2

log(t− 1)

t
dt

⎞
⎠+ 4 log(v − 1)− 10.

�	�� �������
 � �� �	��
��� �� �	��	 2.6 �� 2 < v � 3� �

���������� �	 ���� �� ���	
�
�� 2 < v � 3� ���� �
���

ρ2(v) = v
(
7− 2 log v + 2 log(2v) log

(v
2

)
+ 4v

1
2∫

1
v

log(1− t)

t
dt
)
+

+4(1− v) log(v − 1)− 10.


���
�������
	 ���� ������� �����	

4v

v∫
2

log(t− 1)

t
dt = 4v

v∫
2

log(t) + log(1− 1/t)

t
dt =

= 2v(log v)2 − 2v(log 2)2 + 4v

v∫
2

log(1− 1/t)

t
dt.



�� �� ������	 	�
 �� �
	�
��

�� �����	
	�� �	 
������	� y = 1
t ����	

4v

v∫
2

log(1− 1/t)

t
dt = 4v

1
2∫

1
v

log(1− y)

y
dy.

�������� �	� 	���	������ ������	��	� ���� �	 �	

	 2.6 	� ���� ���	���� �	

���������	 �� �

����� ���� ������

S1 = −2 +
(
4− 2v − 4

v

u
− 4v log u

)
log(v/u)− 3v + 10

v

u
��

S2 = 4
(
v − v

u
− v log u

)
log(u− 1) + 2v log(2v) log(v/2)− 4v

1− 1
u∫

1
2

log(1− y)

y
dy.

���	 	�� ���
������ ��
� 
����

β2(u, v) =

⎧⎨
⎩ v − 2 + 2

v

u
− 2v log(v/u), (1 < u � v � 2)

S1 + S2, (1 < u � 2 � v � 3)

���	
��
���	
� ��	�� ��	 �������	��	 �	� �	

	� 2.5, 2.6 	� �	 ������

����������	� ���� ��
��� ��	 �� �������� 
��� 	

β2(u, v) = ρ2(v) +
u

v

(u−1) v
u∫

0

ρ2(t)m2

(
u− ut

v

)
dt, ������	 0 < u � v.

!� 1 < u � v � 2" �� �
v

u
(u− 1) � v

2
� 1

	� ��� ����	

β2(u, v) = 3v − 2v log v − 2 + 2

v−v/u∫
0

t

v − t
dt

= 3v − 2v log v − 2− 2

v−v/u∫
0

(
1− v

v − t

)
dt.

�	�� ����
��� �

β2(u, v) = v − 2 + 2
v

u
− 2v log(v/u).



������� �� �� 	��
���� �� 
���� ��� ��� ������� ��

������	
��� ����
����
 �� ������� 1 < u � 2 � v � 3� ���
 �� ����
���

β21(u, v) =
u

v

v− v
u∫

0

ρ2(t)m2

(u
v
(v − t)

)
dt.

���� ������� ���
� 	�
�
�

β21(u, v) =
u

v

1∫
0

ρ2(t)m2

(u
v
(v − t)

)
dt +

u

v

v− v
u∫

1

ρ2(t)m2

(u
v
(v − t)

)
dt.

�������� �����
������ �
	�	���
� �� ���� ��

���

β2(u, v) = I + J, ����

I =
u

v

1∫
0

ρ2(t)m2

(u
v
(v − t)

)
dt �


J =
u

v

v− v
u∫

1

ρ2(t)m2

(u
v
(v − t)

)
dt

��� ����� 2.5 �
 2.6 ���������


I = 2

1∫
0

t

v − t
dt = −2

⎛
⎝ 1∫

0

v − t− v

v − t
dt

⎞
⎠ = −2− 2v log(v − 1) + 2v log v

J = 2

v− v
u∫

1

3t− 2t log t− 2

v − t
dt = J1 + J2 + J3 ����

J3 = 4 log(v/u)− 4 log(v − 1),

J1 = −6

⎛
⎜⎝

v− v
u∫

1

v − t− v

v − t
dt

⎞
⎟⎠ = −6v + 6

v

u
+ 6− 6v log(v/u) + 6v log(v − 1)

J2 = −4
v− v

u∫
1

t log t

v − t
dt = 4

v− v
u∫

1

(v − t) log t− v log t

v − t
dt = J21 + J22, ����

J21 = −4v
v− v

u∫
1

t log t

v − t
dt,



�� �� ������	 	�
 �� �
	�
��

J22 = 4

v− v
u∫

1

log tdt = 4
(
v − v

u

)
(log(v/u) + log(u− 1)− 1) + 4.

�� �����	
	�� �	 
������	� y = t
v ���
� ����	 ����������� ��� �����	� ����	

J21 = − [−4v log(1− y) log vy]
1− 1

u
1
v

− 4v

1− 1
u∫

1
v

log(1− y)

y
dy =

= −4v log u log
(u
v
(u− 1)

)
− 4v

1− 1
u∫

1
v

log(1− y)

y
dy =

= −4v log(u) log(v/u)− 4v log(u− 1)− 4v

1− 1
u∫

1
v

log(1− y)

y
dy.

���� �
��� ����� 
����� ��	

I + J = 8 +
(
4− 2v − 4

v

u
− 4v log u

)
log(v/u)− 10v + 10

v

u
+

+ 4(4− v/u) log(u− 1) + (4v − v) log(v − 1) + 2v log v−

− 4v log(u) log(u− 1)− 4v

1− 1
u∫

1
v

log(1− y)

y
dy.

�� ���� �	
������� �	� ��������	� ��� �	��� 	���	������ �	��	���
	�� ����

���	����

β2(u, v) = −2 + (4− 2v − 4
v

u
− 4v log u) log

( v

u

)
− 3v + 10

v

u
+

+4(v − v

u
− v log u) log(u− 1) + 2v log(2v) log(v/2)− 4v

1− 1
u∫

1
2

log(1− y)

y
dy =

= S1 + S2.

���������� �	 ���� �
���

β2(2, 3) = 4− 8 log(3/2) + 6 log2(3/2).

���� ������� �	 ���������	� �� �	
����	 ���� β2(u, v)� � 	� 
 �	��	���
	
	��

��� 2 	� 3� ���� ����������� 
����	���� �� �	���	�	 �����	 �	 �	 ���
���� � ��
���

�	 �����	
	 2.2�



������� �� �� 	��
���� �� 
���� ��� ��� ������� ��

��������	�
��� ������	 
� ��
����� 2.1� ���	 ���������	 ��� c0 = 1
3β2(2, 3)�

�� ����� ���	 ����	

Γ2(x, x
1/2, x1/3) =

1

3
β2(2, 3)x log x

{
1 +O

(
1

log x

)}
.

��� ���	
������

c0 =
1

3
β2(2, 3) =

2

3

(
2− log(3/2) + 3 log2(3/2)

)
.

���	 ��
��
��	 ���������� c1� ��	��	 Q2(x) =
∑

n�x,hx(n)=1

τ(n)�

���� ������ ������ n � 2 ��
 ��� hx(n) = 1, n = pm� �� ���� ������� �������
q �� m �
���� q /∈ ]

x1/3, x1/2
]
� �������� ������� ������� �� n ����������� �


��������

� ��
�
���� �	� p� ��� ���	
������ �� ���� 
�����

Q2(x) = 2
∑

p∈]x1/3,x1/2]

Γ2(x/p, x
1/2, x1/3).

�����	 ��� vp = 3
(
1− log p

log x

)
�� up = 2

3vp� �� ��
����� 2.1 �� 
� ��
�����

��
�
����� ���
������

Q2(x) =
2

3
x log x

∑
p∈]x1/3,x1/2]

1

p
β2(up, vp)

(
1 +O

(
E(

x

p
, x1/2, x1/3)

))

�� 
� ����� �������� E(xp , x
1/2, x1/3) �
����

∑
x1/3�p�x1/2

β2(up, vp)E21(
x
p , x

1/2, x1/3)

p
� 1

log x
.

 ���� 1 � vp � 2� 
� 
���� 2.7 ���
����

β2(up, vp) = vp − 2vp log

(
vp
up

)
+ 2

vp
up
− 2

�� ������

β2(up, vp) = 4− 3
log p

log x
− 6

(
1− log p

log x

)
log

(
3

2

)
.

������	 ��� ����� ����� �� ��
����� ��	 ���!��	 �������	� ���	 ����	

∑
x1/3�p�x1/2

log p

p
=

log x

6
+O

(
e−
√
log x

)



�� �� ������	 	�
 �� �
	�
��

�� ∑
x1/3�p�x1/2

1

p
= log(3/2) +O

(
1

log x

)
.

��� ����� ��	
����� ��
�
������� ���� �
������� 	������
���� ����
���

∑
x1/3�p�x1/2

β2(up, vp)

p
= 5 log

(
3

2

)
− 6

(
log

3

2

)2

− 1

2
+O

(
1

log x

)
.

����� ∑
x1/3�p�x1/2

β2(up, vp)E21(
x
p , x

1/2, x1/3)

p
� 1

log x
,

���� 
����

Q2(x) =

(
10

3
log(3/2)− 4(log(3/2))2 − 1

3

)
x log x

(
1 +O

(
1

log x

))
.

���� �
������� 
	��� ���

c1 =
10

3
log(3/2)− 4 (log(3/2))

2 − 1

3
.

�� ��
����� �� ��	������
	
���� ��� �
��	�
�� ��
�
����� �� �� 	
 ��	
����

∑
n�x,hx(n)=2

τ(n) =
∑
n�x

τ(n)−
∑

n�x,hx(n)=0

τ(n)−
∑

n�x,hx(n)=1

τ(n).

���� �� �
������� 	
 �
	��� �� 	
 �����
��� c2�

�� ������� �
�
��
��� ��� �
����
 
 ���	���� ������
�
� �� 	
 �������� βk(u, v)�

����������� 	
�
 �� �������� βk(u, v) 	
���
 �
� �
������� ���	���
�� ����

���� �

� u, v� ���� �	����

 �! βk(u, v) � kekγ

v u (1 � u � v)�

 ��! βk(u, v) � 1
vΓ(k) (u � v

v−1 )�

 ���! v ∂βk

∂v (u, v) = (k − 1)βk(u, v)− kβk

(
u
v (v − 1), v − 1

)
1 < u < v�

 ��! u∂βk

∂u (u, v) = kβk

(
u− 1, v

u (u− 1)
)

1 < u < v�

 �! βk(u, v) = βk(w, v) + k
u∫
w

βk (t− 1, v(1− 1/t)) dt u � w > 2�



������� �� �� 	��
���� �� 
���� ��� ��� ������� ��

��������	�
��� ��� �� �	
����
� �� βk(u, v) �� �� ���
����
� �� mk(t) ���
��������

βk(u, v) � ρk(v) + k
uk

v

v(1− 1
u )∫

0

ρk(t)

(
1− t

v

)k−1

dt.

�
��� �� �
����
� f(t) =
(
1− t

v

)k−1
��� ��
������� �������	��
�������� �� k < 1

������ k > 1� ��� ������������
[
0, v

(
1− 1

u

)]
� 
� � f(t) � u1−k�

�����

βk(u, v) � ρk(v) + k
u

v

⎛
⎜⎝

+∞∫
0

ρk(t)dt−
+∞∫

v(1− 1
u )

ρk(t)dt

⎞
⎟⎠ �

� ρk(v) + k
u

v

⎛
⎝ +∞∫

0

ρk(t)dt−
+∞∫

v−1

ρk(t)dt

⎞
⎠ �

� ρk(v) + k
u

v
ekγ − ukρk(v).

 
�� ��
�� ��
�� βk(u, v) � k u
v e

kγ ��� (1− u)ρk(v) < 0�

���� !
�� �� ���"���� ��	#����	� �
�� ������
�� �� ���
����
� �� mk(t)�  
��

$���
��

βk(u, v) � k

v

v(1− 1
u )∫

0

ρk(t)

(
1− t

v

)−1

dt �

� k

v

1∫
0

ρk(t)dt =
1

vΓ(k)
.

����� !������

βk(u, v) = ρk(v) +

u∫
0

ρk

(
tv

u

)
mk(u− t)dt,

�
�� ��
��

∂βk

∂v
(u, v) = ρ

′
k(v) +

u∫
0

t

u
ρ
′
k

(
tv

u

)
mk(u− t)dt.


�

v
∂βk

∂v
(u, v) = vρ

′
k(v) +

u∫
0

tv

u
ρ
′
k

(
tv

u

)
mk(u− t)dt.



�� �� ������	 	�
 �� �
	�
��

�������	� �� 
������	 uρ
′
k(u) = (k − 1)ρk(u)− kρk(u− 1)
 	��� ����	�	�

v
∂βk

∂v
(u, v) = (k − 1)βk(u, v)− kβk

(u
v
(v − 1), v − 1

)
�

���� ���� 
���
���	� �����
� ���

βk(u, v) = ρk(v) +

1∫
0

ρk (v(1− t))umk(ut)dt.

�� �� 
������	 �
�����	��
 	��� �������	� ���

∂βk

∂u
(u, v) =

k

u
ρk

( v
u
(u− 1)

)
+

k

u

u−1∫
0

ρk

( v

u
t
)
mk(u− 1− t)dt.

����

u
∂βk

∂u
(u, v) = kρk

( v
u
(u− 1)

)
+ k

u−1∫
0

ρk

( v

u
t
)
mk(u− 1− t)dt.

��

u
∂βk

∂u
(u, v) = kβk

(
u− 1,

v

u
(u− 1)

)
.

��� ���� �	���
�	� �� ����
���� 
������	 ��
 
����
� � u� �

��������� ��� 
�������� ������� ��	� �� �
��������	 �
�����	�� �����	� ��
�
�������� ���
 ������
 �	� ��
���� �� ��������� ���
 ���!�
�����	 βk(u, v)�

��	���
���

"#$ 
������ ��� %&� ����
������	 �� v(n) �	 �&� ����� �� '
�����&�	��
 ���

�������	
 ����
�	 �� ����������� 
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